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QUESTION 1

How can you tell that a virtual network interface in a virtual machine is set up to use Paravirtualization?
A. The vm.cfg file will have a xenbrX = [type=netfront] setting.

B. The vm.cfg file will have a vif = [type=netpv] setting.

C. The vm.cfg file will have a vif = [type=netfront] setting.

D. The vm.cfg file will have a xenbrX ttype=pvfront] setting.

E. The vm.cfg file will have a xenbrX = [type=netpv] setting.

Correct Answer: C

QUESTION 2

Identify the mechanism for combining one or more network interfaces to provide better throughput and failover
capabilities.

A. VLAN

B. Port authentication
C. Spanning Tree

D. Link Aggregation
E. Dedicated link
Correct Answer: D

Reference: http://docs.oracle.com/cd/E36500_01/E36503/html/performance-networking.html (see 7.5.2)

QUESTION 3

Which two are characteristics of block 1/0O in a fully hardware virtualized configuration?

A. The virtual machine 1/O path only uses the block device driver from dom0O.

B. The virtual machine relies on emulation of the hardware in domO for block 1/O. the guest

C. The virtual machine 1/O path includes the native block device drivers from operatingsystem.
D. The virtual machine does not need a block device driver.

E. The virtual machine must provide emulation of the hardware through its own IOEMU drivers.
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Correct Answer: BC

QUESTION 4

During installation of Oracle VM Manager to a new Oracle Enterprise Linux server, the installer fails with a message
indicating that there is insufficient swap space.

What is the cause for this error?

A. The installer has determined that the Oracle application server\\'s (OC4J) minimum requirement for swap space has
not been met.

B. The installer has determined that the Oracle Database XE server\\'s minimum requirement for swap space has not
been met.

C. The installer has determined that there is insufficient swap space to unpack the installer into the /var subdirectory.

D. The installer has determined that the swap space recognized by the system has been incorrectly formatted to use
TMPEFS instead of SWAPFS.

Correct Answer: B

QUESTION 5

What command will show the current status of all Oracle VM Agent components?
A. service ovs status

B. xm show ovs-agent

C. service ovs-agent status

D. repos.py -1

E. xm dmesg

Correct Answer: C

170-590 PDF Dumps 170-590 VCE Dumps 170-590 Study Guide

170-590 PDF Dumps | 120-590 VCE Dumps | 120-590 Study Guide 3/3


https://www.geekcert.com/1z0-590.html
https://www.geekcert.com/1z0-590.html
https://www.geekcert.com/1z0-590.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-590.html
https://www.geekcert.com/1z0-590.html
https://www.geekcert.com/1z0-590.html

